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Mengleang week 9 / PLC_1 [CPU 1212C AC/DC/Rly] / Program blocks
Main [OB1]

Main Properties

Name Main Number 1 Type OB Language LAD
Numbering Automatic
Title “"Main Program Sweep (Cy- | Author Comment Family
cle)"
Version 0.1 User-defined ID
Main
Name Data type Default value Supervision Comment
w Input
Initial_Call Bool Initial call of this OB
Remanence Bool =True, if remanent data are available
Temp
Constant

Network 1:

%DB4
"Co"
%I8.4 cTU
"s_Inductive" Int
— F———w Q
o —
%10.0
"SW1
—— ——
2 —py
Network 2:
%10.1 %M10.0
rowa" "STATE1"
{ | {s}
%Q0.3
1
{R}
%Q0.0
e
{R}
%QO0.1
o
{R}
%M10.1
"STATE2"
{ RESET_BF }—
4
Network 3:
%M10.0 %10.0 %M10.1
"STATE1" "SW1 "STATE2"
]l L ] | { S 1
LI} LI | \ 1
%Q0.3
~1
{s}
%M50.0
"Metal_Obj"
{R}
%M50.1
"Red_Obj"
{R}
%M10.0
"STATE1"
{R}

Network 4:
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%DB1
"IEC_Timer_O_DB"
%M10.1 TON %M10.2
"STATE2" Time "STATE3"
L —n Q (s}
T#1S — PT ET
%Q0.0
1"
{s}
%M10.1
"STATE2"
{R}
Network 5:
%M10.2 %I8.4 %M50.0
"STATE3" "s_Inductive" "Metal_Obj"
1 L ] L IS\
LI | 1 A Sl |
%I8.1 %MS50.1
"S_Red" “"Red_Obj"
Vi {s}
Network 6:
%DB2
"I[EC_Timer_0_
DB_1"
%M10.2 TON %M50.1 %M50.0 %M10.3
"STATE3" Time "Red_Obj" "Metal_Obj" "STATE4"
— ———n Q { | { | {s}
T#2.2S PT ET
%Q0.0
w1
{R}
%QO0.1
o
——ro S }——
%M10.2
"STATE3"
———(R }——
Network 7:
%M10.3 %l0.4 %M10.4
"STATE4" "52-2" "STATES"
1 L ] L
1T 1T {s}
%Q0.1
o
{R}
%Q0.3
w1
{R}
%M10.3
"STATE4"
{R}
Network 8:
%DB3
"IEC_Timer_0O_
DB_2"
%M10.2 TON %M50.1 %M50.0 %M10.5
"STATE3" Time “Red_Obj" “Metal_Obj" "STATE6"
— ———n Q { | V1 {s}
T#5s — PT ET
%M50.1 %M50.0 %Q0.0
“Red_Obj" “Metal_Obj" "Y1
Vi Vi {R}
%M50.1 %M50.0 %Q0.3
“Red_Obj" “Metal_Obj" "M1"
2 | | (r)
%M10.2
"STATE3"

— (R }——
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Network 9:

%M10.3
"STATE4"
]l L

%M10.4
"STATES"

{ s}
\Sl

%Q0.1
o

{R)
\Rl

%Q0.3
™M1

{ R}
\Rl

%M10.3
"STATE4"

{ R}
\Rl

Network 10:

%M10.4
"STATES"
] L

%l10.5

"C0".QU

%M10.0
"STATE1"

{s)
\Sl

%M10.4
"STATES"

————————————{ RESET_BF }—
4

%M10.4
"STATES"

{RrR)
\Rl

Network 11:

%M10.4
"STATES"
] L

"C0".QU

o %M10.1
io .clv " TATE2"
<
{s}

4

int ]
2

%Q0.3

™M1

—S }——

%M50.0
"Metal_Obj"

——— R }——

%M50.1
"Red_Obj"

—— R }——

%M10.4
"STATES"

L— (R }——

Network 12:

%M10.5
"STATE6"
] L

%l0.2
"S1-1"

%M10.1
"STATE2"

{5\
\Sl

%Q0.3
M1

{ s}
\Sl

%Q0.3
M1

{5\
\Sl

%M50.0
"Metal_Obj"

{ R}
\Rl

%M50.1
"Red_Obj"

{ R}
\Rl

%M10.5
"STATE6"

{ R}
\Rl




